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WRITTEN PRACTICE ANSWERS

1 Sample: 

2 a. 9 girls

b. 27 students

c.   2 __ 
1
 

3 a. 75, 80, 80, 80, 85, 90, 90

b. 80

c. 80

4 
1 __ 
2
  ×   1 __ 

3
  =   1 __ 

6
 

5 7

6 >

7  ; 2  1 __ 
2
 , 2.5

8 4

9 a. $10

b. $10

10 a.  7, 14, 21, 28, 35 

b. 1

11 A

12 28 sq. cm; 22 cm

13 13.27

14 $1.71

15  $56.40 

16 260,592

17 20; sample: I divided 
one numerator by its 
denominator to find 20. 
Since the ratios are equal, I 
know 20 is the quotient for 
each division.

18 
6 __ 
9
 ; 1  4 __ 

9
 

19 8  3 ___ 
15

 

20   1 __ 
3
 

21 9

22 16

23 

24 a. A

 b. Grant

 c. K2
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WRITTEN PRACTICE ANSWERS

25 90

26 a.   A(1, 2), B(4, 0), C(4, 2) 

b. 

27 a. 160 cubic inches

b.  8 vertices 

28 
7 ___ 

25
 

29 A

30 C

Early Finishers:

a about 30 m2

b 21.5 meters

c 11 sections
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